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Rearrangement of Sentence Questions for SBI PO Pre, 

IBPS PO Pre, SBI Clerk Mains and IBPS Clerk Mains 

Exams. 

Rearrangement of Sentence 12 

Direction: Given below the sentences each of which has been divided into five 
parts out of which the first part has been marked bold. Each of the questions is 
then followed by the five options which give the sequence of the rearranged 
parts. You must choose the option which gives the correct sequence of the 
parts. If the sentence is already arranged or the correct sequence doesn't match 
any of the given sequence, mark (e) .i.e. "None of the above" as your answer. 
 

1. The education system in India is so shallow that / the PISA Assessment test 
conducted for the junior grade students (A) / aware of the basic rules of grammar 
or mathematics (B) / and it has been proved recently by the results of (C) /  most 
of the students are not even  (D) 

A. BCDA  B. ACDB   C. DBCA   D. DCAB 
E. None of the above 
 

2. India should focus more on developing alternate / and that is why the farmers 
have to suffer losses (A) / every year resulting in farmer suicides across the 
country (B) / techniques for agriculture which is mainly (C) / based on the natural 
factors such as rains and heat (D) 

A. ACBD  B. BDCA   C. CDAB   D. ADCB  
E. None of the above 
 

3. The Economic Offenders Bill that has been passed recently in the Parliament / 
with the objective that nobody can be absconding from the country (A) / for a 
long time without repaying his loans taken from banks (B) / since the government 
can now attach properties of such people (C) / if the defaulters do not give reply 
to the notices or summons of the court (D) 

A. ADCB  B. BDCA   C. ABDC   D. CADB  
E. None of the above 
 



 

 

4. The judiciary of our country is so overburdened with cases / for the crimes 
actually committed by them (A) / and it is also the main reason of overcrowding in 
almost all the prisons in the country (B) / that most of the under-trials are made 
to stay (C) / inside the prison for a period far exceeding the period of punishment 
(D) 

A. CDBA  B. ADCB   C. CDAB   D. DBAC  
E. None of the above 

 

5. Cricket has so far dominated the sports space in India / with the Board of 
Control for Cricket in India being the richest sports body (A) / being organized by 
the sports federations of all such sports (B) / also thanks to the premier leagues 
(C) / but recently a lot of other sports have become popular (D) 

A. DBCA  B. ADCB   C. ADBC   D. DCAB  
E. None of the above 
 

6. The Good and Services Tax regime in India has / created a lot of problems for 
the small traders (A) / because they have to now register for GST (B) / and also 
apply for credit refund in various cases (C) / though their turnover is not very 
much (D) 

A. ACBD  B. CDAB   C. DCBA   D. ABDC  
E. None of the above 
 

7. Whether he was a mere frontman,/ with deep-seated prejudices, is difficult to 
tell; (A)/ or a driver of change in an organization (B)/ a ‘mask’ as one of his party 
colleagues described him, (C)/ the truth lay somewhere in between. (D) 

A. DCBA  B. BCDA   C. BADC   D. CBAD  
E. None of the above 
 

8. The competition today is talented and runs deep,/ was not just a last stab at 
glory (A)/ but the next few months will provide the great man the opportunity to 
demonstrate (B)/ that he has truly returned to form and that his run in the PGA 
(C)/ and it is important to remember that Woods has ‘lost’ about a decade of his 
golfing life (D) 

A. CABD  B. ACBD   C. DCBA   D. DBCA  

E. None of the above 

 



 

 

9. For the Indian rupee,/ dollar, the latest shock has (A)/ come from a most 
unexpected quarter (B)/ already grappling with high crude oil prices (C)/ and the 
growing heft of the U.S. (D) 

A. DBCA  B. ADCB   C. CDAB   D. BCDA  
E. None of the above 

 

10. With both consumer and wholesale price inflation easing in July, / the 

Reserve Bank of India, which has only intervened (A) / a growth-debilitating rate 

hike in October (B) / may have room to hold off on (C) / sparingly in the foreign 

exchange market so far (D) 

A. DCBA  B. ADCB   C. CDAB   D. BDCA  
E. None of the above 
 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

C C E C B E D D C B 

 

Explanations: 

1. The opening fragment starts with the description of the education system of the 
country. Out of all the fragments, D fits as the 1st fragment that connects well to the opening 
fragment in process of the rearrangement of fragments. 
 

Connectors: 
D to B 
D: Most of the students are not even 
B: Aware of the basic rules of grammar or mathematics 
  

Connectors: 
B to C 
B: Aware of the basic rules of grammar or mathematics 
C: And it has been proved recently by the results of 
  

Connectors: 
C to A 
C: And it has been proved recently by the results of 
A: the PISA assessment test conducted for the junior grade students 
 The correct sequence is D-B-C-A 
 This makes option C the right choice among the given options. 



 

 

2.  The opening fragment starts with the status of agriculture in India and the agriculture 

practices in the country. Among all the given fragments, C is the most suitable connecting 

fragment as it complements the given part by describing that India is developing alternate 

techniques for agriculture in India. 
  

Connectors: 

C and D 

C: Techniques for agriculture which is mainly 

D: based on the natural factors such as rains and heat 
  

Connectors: 

D and A 

D: based on the natural factors such as rains and heat 

A: and that is why the farmers have to suffer losses 
  

Connectors: 

A and B: 

A: and that is why the farmers have to suffer losses 

B: every year resulting in farmer suicides across the country 
  

Therefore, the correct sequence is C-D-A-B 
  

So, Option C is the correct choice among the given options. 
 
 

3. The given fragments are already in proper order and no rearrangement of the fragments 

of the sentences is required. 
  

This makes Option E the right choice among the given options. 
 
 

4.  The statement is about the status of judiciary in India. Among all the fragments, C fits as 
the first connecting fragment after the rearrangement. 
 

Connectors: 
C and D 
C: that most of the under-trials are made to stay 
D: inside the prison for a period far exceeding the period of punishment 
  

Connectors: 
D and A 
D: Inside the prison for a period far exceeding the period of punishment 
A: for the crimes actually committed by them 



 

 

  
Connectors: 
A and B 
A: for the crimes actually committed by them 
B: and it is also the main reason of overcrowding in almost all the prisons in the country 
  
Therefore, the correct sequence of fragments is C-D-A-B 
  
Clearly, Option C is the correct choice. 
 
 

5. The statement is about the status of various sports in India. The first fragment should be 
A since it complements the given fragment of the sentence well. 
 
Connectors: 
A and D 
A: with the Board of Control for Cricket in India being the richest sports body 
D: but recently a lot of other sports have become popular 
  
Connectors: 
D and C 
D: but recently a lot of other sports have become popular 
C: also thanks to the premier leagues 
  
Connectors: 
C and B 
C: also thanks to the premier leagues 
B: being organized by the sports federations of all such sports 
  
Therefore, the proper sequence is A-D-C-B 
  
Hence, Option B is the correct choice.  
 
 

6. The given sentence is perfectly in order and no rearrangement of fragments is required 
to be carried out in this sentence. 
  
This makes Option E the right choice among the given options. 
 
 
 
 
 
 



 

 

 
  

7. The first fragment 
 
Whether he was a mere frontman 
 
This clearly implies that it should be followed by description of the perception about him being 
a frontman. This means fragment C should come after the first fragment as it further describes 
the perception of him being a mere frontman. 
  
Connectors  
 
C to B to A 
 
A ’mask’ as one of his party colleagues described him 
Or a driver of change in an organization  
With deep seated prejudices, is difficult to tell; 
  
Only D is left to complete the given sentence. 
  
Hence, the proper sequence of sentences is CBAD. 
  
This makes option D the right choice among the given options. 
 

 

8.  The first fragment 
 

The competition today is talented and runs deep  
 

It implies that the next fragment should give some information regarding the subject which 
here turns out to be Tiger Wood's performance. Clearly, D fits after the first fragment among 
the given ones. 
 

Connectors:  
 

D to B to C 
 

And it is important to remember that Woods has ‘lost’ about a decade of his golfing life  
But the next few months will provide the great man the opportunity to demonstrate 
That he has truly returned to form and that his run in the PGA. 
  

Only A is left to complete the segment and follow C. 
  

So, the correct sequence of fragments is DBCA. 
  
So, Option D is the correct choice among the given options. 



 

 

9. The first fragment 

 
For the Indian Rupee, 
It should be followed by a fragment that says something about the Indian currency or talk 
about the present situation of the currency in the country. Among the given fragments, Only C 
will fit in the given context. 
 
Connectors: 
 
C to D to A 
Already grappling with high crude oil prices 
And the growing heft of the U.S. 
Dollar, the latest shock has 
  
Fragment B meaningfully finishes the statement. 
  
So, the correct sequence is CDAB 
  
This makes option C the right choice among the given options. 
 
 
 

10. The first fragment 
 
With both consumer and wholesale price inflation easing in July, 
 
Clearly, it should be followed by some steps taken by the government or the Reserve Bank of 
India or the overall picture of the Indian economy in July. Among the given fragments, only A 
can come next to opening fragment 
 
Connectors 
 
A to D to C  
 
The Reserve Bank of India, which has only intervened 
Sparingly in the foreign exchange market so far 
May have room to hold off on 
  
Only B will be left to finish the sentence by being placed after C 
  
So, the correct sequence is ADCB 
  
Clearly, option B is the correct choice.  
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